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FOR a=5 TO 9
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LOCATE 36.10:PRINT CHR$C123)
LOCATE 1.5:PRINT STRINGSCZ, CHR
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MEXT

860 FOR a=5S TO 26
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o A Topmabelu il 1860 b¥(2)=CHRS( 178 )+CHRS( 179 4CHR
J 4 J ddIdd + C {
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96.96, 224 1290 a$=INKEYS
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FOR a=1 TO 3 2e78 v=yw+l 0N v GOTO 2698, 2256
X1=xmz 9 1=9m2 : xm2=xm2-1 1 4m2=y 2658 GOTO 2645
299 FOR a=1 T0O 2
LOCATE x1.491:FRINT m% 2708 xl=xm2:91=9m2 : dmZ=um2-1: xm2=x
CALL &BD12 me+
FEN 3:LOCATE xm2.49m2:FRINT m%$ 2716 COSUE 2636
erel IF xm2>=28 THEN xmz2=2%2
GOSUB 26396 2730 LOCATE <1 .91:PRINT m%$
NEXT 2748 LOCATE wm2,9m2:PEN 2:PRINT m$
w=RENDX¥3 iyl
FOR a=1 TO v 279 NEXT a
K1=xme : 91=9me: xm2=xmz—1 27608 y=INT(RHDL:2 +2
LOCATE x1.,91:PRINT m% 2770 FOR a=1 TO w
CALL &BD13 2780 x1=xm2 91=4m2:9m2=4m2+1 : xm2=y
PEN 2:LOCARTE xm2,4m:2:PRINT m$ M2+ 1
A 2793 COSUE 2830
GOSUR 2830 2208 IF xm2>22 THEN xmzZ=28
HEXT 2218 LOCATE x1.91:FRINT m%
FORE a=1 TO 4 2828 LOCATE xm2,49m2:PEN 3:PRINT mn$
X1=xme iy 1=dm2 : xm2=xme—=1:9m2=4 (2)
2229 NEXT a
LOCATE x1.91:FRINT m$ 2240 GOTD 2008
CALL %BD12 2350 FOR a=1 TO 3
PEN Z2:LOCATE xm&.,4mZ:FRINT m% 2860 xil=xm2:91=9nZ 9m2=94m2-1:xm2 -x
ma=1
GOSUB 3894 2278 GOSLE 26096
NEXT 222 IF xm2<4 THEN xmZ=4
¥1=xm2 4 l=9m2:9m2=am+1 2398 LOCATE x1.41:FPRINT m$
IF ym2=286 AND xmZ2=xb THEN GOS% 2900 LOCRTE xm2,4mz:PEN Z3:PRINT m%
UB 3380:G0T0D 2840 (2)
IF ym2=20 AND xm2<>9b THEH wvi 2918 NEXT a
e=yie-1:GOSUR 2554 2920 w=INTCRNDX2)+1
LOCATE x1.491:PRINT m% 2920 FOR 3=1 TO v
CALL 2BD19 2940 Xl=xXmZ:41=4m2 :uamI=umz+] : xmz=x
PEN 3:LOCATE xmZ.4m2:PRINT m% m2-1
2950 GOSUE 3834
GOSUB 2696 2968 IF xmz2<{4 THEN xmz=4
GOTO 1216 2979 LOCATE x1.941:FPRINT m$
s 2988 LOCATE xmZ.3m2:PENH Z2:PRINT m$
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" ¥X¥ TRAJECTOIRE HOMME %%xX% 2990 NEXT a
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FOR a=20 TO 18 STEP-1
x1l=xml :31=9ml :yml=9ymi-1
LOCATE x1,491:PRINT m%
LOCATE xml.yml:PRINT m%C1)
GOSUB 3890

NEXT

v=INT (RND%2)

IF ¥M1<{=6 THEN Y=1

IF XM1>=321 THEN =@
w=v+1::0N v GOTO 2158,2218
GOTO 21088

FOR a=1 TO 2
il=xml9l=gml:ymi=gml—1:xml=x

IF “M1<6 THEN Z“M1=8

LOCATE x1.,41:PRINT m%

LOCATE xmi.49ml :PRINT m$C]1)
GOSUB 3094

NEXT

w=RND%¥2+3

FOR a=1 TO v

x1=xXml :9l=9mligyml=gyml+l:xml=x

IF ¥xmi<€& THEN xml=8&

LOCATE x1.491:FPEINT m%

LOCATE xml.yml:PRINT m%$C1)
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NEXT

COTOD 2486

FOR a=1 TO 2

X1=xml :91l=9ml :ami=9ml-=1:xml=x

IF xmi1>31 THEN xml1=31
LOCATE x1.,491:PRINT m%
LOCATE xml.vml :PRINT m$cCl)
GOSUE 3994

MEXT

v=RND¥2+3

FOR a=1 TO v

xi=Kml iyl=uml :9ami=uml+l:xml=x
IF xm1>31 THEN xm1=31

LOCATE x1.91:PRINT m%$

LOCATE xml.uml:FEIMT m$C1)
COSUB 28949

NEXT
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GOTO 246/
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FOR 3=20 T 11 STEP -1
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LOCATE x1.,491:FPRIMT m%

LOCATE xmZ.4mZ :FRINT m%C 2
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NEXT

w=INTCRNDAEZ D

IF ¥M2<=2 THEN Y=@
IF ¥M2>=22 THEN Y=1
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2048 LOCATE x1.,491:PRINT m$

20568 LOCATE xm2,9m2:PRINT m$2)
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CALL &B01S

LOCATE xel.19:PRINT " 5
LOCATE xb1,2@:PRINT " "

PEN 2:LOCATE xb.,yb:PRINT bL%(P

RETLIEHN

IF INKEY{2>=A THEN xkb=xkh-1
ITF IMKEYC1 )= THEN xb=xb+1
GOTO 2226
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SOUND 1.:10204:2,15.:.15,1 .15
LUCATE xb.49b:FPRINT k%

LOCATE xb+2.4b~-1:PRINT m%(1)
LOCATE xb.4b-1:PRINT m%d 2>
FORE a=1 TO 28:NEXT

LOCATE xb.3b:PRINT b$ip )
LOCATE xb+Z2.49b=1:FPRINT m%$<1 )
LOCATE xb,sb-Z2:PRINT " "
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LOCATE #1.2,2:PRINT#1. Sc
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